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Questions

A loop whose execute never ends is called

Repetition structure is used to execute a statement or set of statement

The loop structure in which condition comes after the body of the loop is

The loop structure that executes at least ones is

Which of the following statement can be used in C

are used to enter data into databases

Redundancy means

are used to move around the window if its contents do not fit on screen

contains icon button that are shortcuts to the commands in the menu

A is used to perform the same sequence of steps or automating tasks repeatedly

A contains an object that stores VBA code

Each record consists of a

break keyword is used in

Which is not possible

From the followings which is different

Answers Choice

Nested loop
Forever loop
Infinite loop
Counter loop

Once

More than one time
Skip statement

All

While
Do-while
For

All

While
Do-while
For

All

While
For

Do while
All
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. Queries
. Reports
. Tables
Forms

. Duplication

. No-duplication

. Standards

. Microsoft office integration

menu bar

. Tool bar

. Scroll bar

. Status bar

. Menu bar
. Tool bars
. Scroll bar
. Status bar

Macro
Module
Forms
Reports

Macro
Module
Forms
Reports

Rows

Columns

Both a and b&nbsp;
None of these

If statement

lf-use

Else-if

None of the above
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Nesting if statement

Loop in the body of statement
If statement in the body of loop
None of above

cow >

If

Else-if
Function
Switch

oom»
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Key is used in

From the following statement which is the control statement

A. If statement

C. Switch statement
D. All of the above

A I
B. Else if
C. Switch



